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Instructions to Candidates

1.

The candidate will have to write his seat number/centre
of examination and date of examination along with
his/her signature on the first page of each MCQ answer
sheet.
The candidate is supplied with MCQ question paper,
which he will have to complete in given fixed time
and will have to submit the MCQ Answer Sheet to
the block supervisor.
You should not write your name or number in any
part of your Answer Sheet (except specifid space)
OR you should not put any sign whereby you identity
can be made out.
The MCQ Answer Sheet given to you should be
submitted to block supervisor before leaving the
examination block.
The exchange of writing material, tools of
mathematics and such similar things with other
students is strictly prohibited.
Up to 30 minutes after distribution of question
papers and in last 10 minutes of the examination
time you will not be allowed to go outside the block
under any circumstances.
If you
(a) Will bring any textbook or any type of writing
or any strip of paper with notes or any other
thing in the examination hall with you during
the examination time. OR
- Talk with other candidate during examination
or try to send message by any means or do any
communication OR will do any type of mal
practice or will attempt for any mal practice.
OR
- Will carry your any written answer books or blank
answer book with you while leaving the
examination hall after completion of
examination. OR will do any activity with
intention of doing so, you will be liable to
punishment or you will be expelled from the
examination the supervisor has the right to send
immediately the report to the University.
The candidate who will disobey the instructions
given by chief or other supervisor OR will show
rude or inappropriate behaviour in the
examination hall, the supervisor will immediately
debar the candidate from the examination.
If any candidate does any of the above
mentioned mal practices or as mentioned in
the Ord. of University, the chief supervisor will
send the candidate out of the examination hall.
The chief supervisor will seize the instruments
like mobile telephone or pager if you bring in
the hall.
10 minutes before the completion of examination
an indicative bell will ring. You should stop writing
at that time you become ready to submit your
answer books to your block supervisor. You should
not leave your seat until the supervisor does not
complete the collection of all the answer books.
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ENGLISH VERSION

Instructions : (1) Question no.1 to 30, each question 1 mark.

(2) Question no.31 to 50, each question 2 marks

In partnership business, how many methods are there to keep
capital accounts of the partners?

@ 1 B) 2
© 3 O 4

Which of the following cost is not selling-distribution cost?
(A) Arriving Transportation Cost

(B) Delivery Transportation Cost

(C) Packing Cost

(D) Salary of Salesman

Whose is the gathered profit or reserved fund?
(A) New Partners (B) Current Partners
(C) Employees (D) None of above

What will be the effect on the reevaluation if the cost through
reevaluation is increased?

(A) Debit (B) CREDIT
(C) Debit and credit (D) not noted

Which fund is not distributable?
(A) Provident Fund

(B) Depreciation Fund

(C) Bad Debt Reservation

(D) Compensation of accident
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6  Which type of account is joint life insurance policy account?
(A) Personal Account
(B) Property Account
(C) Production cost Account

(D) Surplus Account

7  Which is the first payment to be made from the production of the
property at the time of dissolution of the partnership business?

(A) Wife's Loan (B) Partner's Loan
(C) Dissolution Cost (D) Debt of third party

8 The last payment to be made from the production of the property
at the time of dissolution is ........

(A) Dassolution Cost
(B) Debt of third party
(C) Surplus of capital account

(D) Wife's loan

9  What is good return deposited called?

(A) Purchase B) Sell
(C) Purchase return (D) Sell return

10 If arrangement of bad debt reservation is to be made at the time
of property and debt reevaluation, ............

(A) Credited to reevaluation
(B) Credited to profit-loss
(C) Debited to reevaluation
(D) Debited to indebted
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11 Which is the most famous method for evaluation of deposit?
(A) Weighted Average
(B) More profit
(C) Simple Average
(D) Capitalization Method

12 What is the other name of property disposal account?
(A) Daissolution account
(B) Business account
(C) Compilation account

(D) Reevaluation account

13 At which side does the loss of partner's part is remarked in
temporary capital method?

(A) Credited to capital account
(B) Debited to capital account
(C) Credited to current account

(D) Debited to current account

14 It 1s to prepare a profit-loss allotment account in the
annual account of partnership account.

(A) Acceptable (B) Compulsory
(C) Beneficial (D) Voluntary

15 What is craftsmen profit fund for partnership account?
(A) Due (B) Reserve
(C) Property (D) Debt
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16 What if the profit to partner is zero?
(A) There is profit to partner
(B) There is no profit to partner.
(C) New proportion of profit to partner is more

(D) New proportion of profit to partner is less

17 By which other name is the steady capital account's method is
known?

(A) Estimate capital account method
(B) Permanent capital account method -
(C) Unsteady capital account method

(D) Temporary capital account method

18 What is the effect of each remainder on annual accounts showed
in rough balance sheet?

(A) One B) Two
(C) Three (D) None

19 The recovered fee would be remarked in which account?
(A) Credited to business account
(B) Debited to business account
(C) Credited to profit-Loss account

(D) Debited to profit-loss account

20 The change due to various reasons in partnership means
(A) Rearrangement (B) Organization

(C) Interpretation (D) Reconstitution
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21 For which partner it is compulsory to declare his retirement
through a notice?

(A) Partner of name
(B) Partner of only profit
(C) Active partner

(D) Partner of capital

22  Which of the following reservation is not distributed among the
partners?

(A) Investment increment-decrement reservation
(B) Repairing reservation

(C) Bad debt reservation

(D) All of above

23 On which law 6% interest is given on the dues of retired partner?
4) 1932 B) 1991
(©) 1956 D) 1950

24 What is craftsmen profit fund to business?
(A) Capital (B) Withdrawal
(C) Debt D) Due

25 What is not to distribute at the time of dissolution?
(A) Not remarked debitor
(B) Remarked debitor
(C) Loan by firm
(D) Bank overdraft
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26

27

28

29

30

Declaration of retirement through the notice for an active partner

is
(A) Desirable (B) Voluntary
(C) Compulsory (D) Profitable

Give the equation for new proportion of distribution for active
partners at the time of retirement

(A) OlIld proportion + Sacrificed proportion
(B) New proportion — Sacrificed proportion
(C) Old proportion + Profit proportion
(D) New proportion — Profit proportion

The remaining capital of which account is not taken to the disposal
at the time of dissolution?

(A) Furniture account
(B) Bank account
(C) Investment account

(D) Debitor account

Sacrifice by partner =

(A) Old proportion of profit - New proportion of profit
(B) New proportion of profit - Old proportion of profit
(C) Old proportion of profit + New proportion of profit
(D) New proportion of profit / Old proportion of profit

Where would you remark the royalty?

(A) Debit side of profit-loss

(B) Debit side of business account

(C) Credit side of the property in balance sheet
(D) Debit side of the capital in balance sheet
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31 Rs. 4800 is debit of the transportation cost in rough balance sheet.
20% transportation cost is remaining in the possession. What 1is
the payable transportation cost?

(A Rs. 960 B) Rs. 1200

(C) Rs. 690 D) Rs. 480

32 Due to the change in profit-loss distribution among X., Y, Z, the

1
sacrifice of X is I and sacrifice of Y is 5 and then decide the
profit of Z.
N L 2
(A) T B) 30
2
©) G (D) Zero

33 The total profit of a firm of last four years is Rs. 76000. The cost
of deposit is to be calculated based on the purchase of last two
years. What is the cost of the deposit?

(A) Rs, 19000 (B) Rs. 38000

(C) Rs. 76000 D) Rs. 1,52,000

34 A, B ,and C are the partners of 5:3:2 profit-loss proportion. C is
retiring. Count the new proportion of profit-loss proportion.

A) 3:2 ®B) 2:3
© 53 D) 5:2
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35

36

37

38

A, B and C are the equal partners. At the time of retirement of
C the deposit account shows Rs. 25000. The reevaluation of that

is at Rs. 31000. What amount will be deposited to capital account
of C?

(A) Rs. 1000 B) Rs. 2000

(C) Rs. 3000 D) Rs. 6000

Labour charge is Rs. 4000 (Paid %), what 1s the payable ?

(A) 800 B) 100

(C) 1100 D) 1000

Calendar is the financial year of one partnership firm. One partner
withdraws Rs. 5000 in each month (starting) from 15t August. The
rate of interest on withdrawal is 10%, then the interest on

withdrawal is
(A) Rs. 1000 (B) Rs. 2000

(C) Rs. 625 D) Rs. 5000

Weighted average profit is Rs. 100000, Years of purchase are 5,
then deposit =

(A) Rs. 5000000 B) Rs. 500000

(C) Rs. 50000 D) Rs. 5000
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39

40

41

42

1

1 1
Alka, Shilpa, and Purvi are the partners of >3 % profit-loss.

Purvi retires, then new profit-loss proportion of active members =

A) 23 B) 3:2

© 12 D) 2:1

If the debtor in final balance-sheet is Rs. 10000 at the dissolution
of the firm and the bad debt reservation is Rs. 500, Rs.
will be noted at the debit side of the goods and property disposal

account.
(A) 500 B) 9500
(C) 10000 (D) 10500

Total profit is Rs. 200000, there are 4 years, average profit =
(A) Rs. 50000 (B) Rs. 60000

(C) Rs. 70000 D) Rs. 80000

After counting commission, partner Nayan gets 5% commission.
If /Nayan has got Rs. 8000 commission, what is the profit of firm

before counting the commission?
(A) Rs. 160000 (B) Rs. 162000

(C) Rs. 165000 D) Rs. 168000
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43

44

45

46

Decide the amount of average profit from the following details.
Profit in year-2003 is Rs. 21000, Profit in year-2004 is Rs. 14000
Loss in year-2005 is Rs. 6000, Profit in year-2006 is Rs. 7000

(A) Rs. 36000 (B) Rs. 48000

(C) Rs. 12000 D) Rs. 9000

A partner has withdrawn 50, 100, 150, 200, 250, 300, 350, 400,
450, 500, 550, and 600 respectively on the ending of the month
and on the 315" December 600. If rate of interest is 12%, what
is the amount of interest on the withdrawal?

A 167 B) 143

©) 163 D) 136

For the year ending on date 31.12.2006 (starting from date
1.7.2004 for 5 years), a house on lease is given in Rs. 70000, then
how much amount would be left for the current year?

(A) Rs. 14000 B) Rs. 7000

(C) Rs. 20000 D) Rs. 3500

In the rough balance sheet, Furniture cost is Rs. 9000 and
depreciation cost is Rs. 1000. If depreciation cost is to be increased
by 2%, what will be the total depreciation?

(A) Rs. 1000 B) Rs. 1020

(C) Rs. 180 (D) Rs. 1200
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47 Ending stock is Rs. 10000. Decide the cost of ending stock from
the following details. Market price is 3000, 2500 and Base price
is 2500, 3000

A) 9500 B) 5500

(C) 5000 D) 6000

48 Due to the change in the profit-loss distribution among the K, Kh

1 1
and G, the profit of K is T and profit of Kh is o Decide the

sacrifice of G

o L 2
A) 0 ®B) 20
0 = Z

©) 0 (D) Zero

49 The capitalized profit of a firm is Rs. 100000 and the invested
capital in business is Rs. 80000, then the deposit =

A) 30000 B) 20000

(C) 10000 D) 40000

50 A, B, C and D are the partners of a firm. The proportion of their
capital is 2:3:3:1. If the distributable profit of the firm at the end
year is Rs. 90000, what profit would partner A get?

(A) Rs. 22500 (B) Rs. 25425

(C) Rs. 26500 D) Rs. 28000
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